March 23 Club shoot

Printed March 29, 2023 at 19:29



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	120	27.24	4.4053	120.0000	100.00	3	Cannon, Paul
2	120	77.74	1.5436	42.0479	35.04	8	Nelson, Mick

March 23 Club shoot

Printed March 29, 2023 at 19:29



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C (#	OMPETITOR Name
1	120	33.67	3.5640	120.0000	100.00	6	Willis, Rob
2	120	40.69	2.9491	99.2971	82.75	2	Donavon, Chris
3	120	47.45	2.5290	85.1507	70.96	4	Lydon, Mark

March 23 Club shoot

Printed March 29, 2023 at 19:29



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	120	33.19	3.6155	120.0000	100.00	1	Davies, Martin
2	120	73.36	1.6358	54.2912	45.24	7	Evans, Steve

March 23 Club shoot

Printed March 29, 2023 at 19:29



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	120	32.83	3.6552	120.0000	100.00	9	Jiggens, Mark
2	120	64.67	1.8556	60.9185	50.77	5	Marechal, John

March 23 Club shoot

Printed March 29, 2023 at 19:29



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	40	4.08	9.8039	40.0000	100.00	3	Cannon, Paul
2	40	6.31	6.3391	25.8637	64.66	8	Nelson, Mick

March 23 Club shoot

Printed March 29, 2023 at 19:29

L.P. S.C.

	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C #	OMPETITOR Name
1	40	5.50	7.2727	40.0000	100.00	6	Willis, Rob
2	40	5.61	7.1301	39.2157	98.04	2	Donavon, Chris
3	40	6.65	6.0150	33.0827	82.71	4	Lydon, Mark

March 23 Club shoot

Printed March 29, 2023 at 19:29



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	40	7.00	5.7143	40.0000	100.00	1	Davies, Martin
2	40	13.73	2.9133	20.3933	50.98	7	Evans, Steve

March 23 Club shoot

Printed March 29, 2023 at 19:29



P	TS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	OMPETITOR Name
1	40 40	4.38 10.72	9.1324 3.7313	40.0000 16.3433	100.00 40.86	Jiggens, Mark Marechal, John

March 23 Club shoot

Printed March 29, 2023 at 19:29



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	40	6.02	6.6445	40.0000	100.00	3	Cannon, Paul
2	40	8.84	4.5249	27.2398	68.10	8	Nelson, Mick

March 23 Club shoot

Printed March 29, 2023 at 19:29



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C(#	OMPETITOR Name
1	40	6.57	6.0883	40.0000	100.00	6	Willis, Rob
2	40	8.60	4.6512	30.5581	76.40	4	Lydon, Mark
3	40	10.57	3.7843	24.8628	62.16	2	Donavon, Chris

March 23 Club shoot

Printed March 29, 2023 at 19:29



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	40	6.40	6.2500	40.0000	100.00	1	Davies, Martin
2	40	7.83	5.1086	32.6948	81.74	7	Evans, Steve

March 23 Club shoot

Printed March 29, 2023 at 19:29



1	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1 2	40	7.04	5.6818	40.0000	100.00	9	Jiggens, Mark
	40	14.62	2.7360	19.2613	48.15	5	Marechal, John

March 23 Club shoot

Printed March 29, 2023 at 19:29



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	65	11.06	5.8770	65.0000	100.00	3	Cannon, Paul
2	65	28.14	2.3099	25.5473	39.30	8	Nelson, Mick

March 23 Club shoot

Printed March 29, 2023 at 19:29



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C(#	OMPETITOR Name
1	65	20.40	3.1863	65.0000	100.00	6	Willis, Rob
2	65	21.48	3.0261	61.7318	94.97	4	Lydon, Mark
3	65	22.57	2.8799	58.7506	90.39	2	Donavon, Chris

March 23 Club shoot

Printed March 29, 2023 at 19:29



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C #	OMPETITOR Name
1	65	18.59	3.4965	65.0000	100.00	1	Davies, Martin
2	65	19.12	3.3996	63.1982	97.23	7	Evans, Steve

March 23 Club shoot

Printed March 29, 2023 at 19:29



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	65	20.76	3.1310	65.0000	100.00	5	Marechal, John
2	65	22.91	2.8372	58.9000	90.62	9	Jiggens, Mark

March 23 Club shoot

Printed March 29, 2023 at 19:29



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	65	12.32	5.2760	65.0000	100.00	3	Cannon, Paul
2	65	24.64	2.6380	32.5000	50.00	8	Nelson, Mick

March 23 Club shoot

Printed March 29, 2023 at 19:29



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C #	OMPETITOR Name
1	65	16.52	3.9346	65.0000	100.00	2	Donavon, Chris
2	65	30.31	2.1445	35.4273	54.50	6	Willis, Rob
3	65	34.57	1.8802	31.0616	47.79	4	Lydon, Mark

March 23 Club shoot

Printed March 29, 2023 at 19:29

L.P. S.C.

	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	65	20.12	3.2306	65.0000	100.00	1	Davies, Martin
2	65	22.08	2.9438	59.2301	91.12	7	Evans, Steve

March 23 Club shoot

Printed March 29, 2023 at 19:29



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	65	15.49	4.1963	65.0000	100.00	9	Jiggens, Mark
2	65	21.99	2.9559	45.7867	70.44	5	Marechal, John

March 23 Club shoot

Printed March 29, 2023 at 19:29



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	45	15.99	2.8143	45.0000	100.00	3	Cannon, Paul
2	45	24.60	1.8293	29.2500	65.00	8	Nelson, Mick

March 23 Club shoot

Printed March 29, 2023 at 19:29



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C(#	OMPETITOR Name
1	45	16.64	2.7043	45.0000	100.00	4	Lydon, Mark
2	45	19.35	2.3256	38.6977	85.99	2	Donavon, Chris
3	45	21.27	2.1157	35.2045	78.23	6	Willis, Rob

March 23 Club shoot

Printed March 29, 2023 at 19:29



PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1 45	16.25	2.7692	45.0000	100.00	1	Davies, Martin
2 45	35.18	1.2791	20.7860	46.19		Evans. Steve

March 23 Club shoot

Printed March 29, 2023 at 19:29



PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	COM # Na	PETITOR ame
1 45 2 45	10.00	2.2971 2.2819	45.0000 44.7034	100.00 99.34	•	gens, Mark irechal, John

March 23 Club shoot

Printed March 29, 2023 at 19:29



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	60	11.97	5.0125	60.0000	100.00	3	Cannon, Paul
2	60	23.32	2.5729	30.7976	51.33	8	Nelson, Mick

March 23 Club shoot

Printed March 29, 2023 at 19:29



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C(#	OMPETITOR Name
1	60	13.84	4.3353	60.0000	100.00	4	Lydon, Mark
2	60	19.77	3.0349	42.0030	70.01	6	Willis, Rob
3	60	22.20	2.7027	37.4054	62.34	2	Donavon, Chris

March 23 Club shoot

Printed March 29, 2023 at 19:29



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	60	15.49	3.8735	60.0000	100.00	1	Davies, Martin
2	60	25.73	2.3319	36.1213	60.20	7	Evans, Steve

March 23 Club shoot

Printed March 29, 2023 at 19:29



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	60	15.24	3.9370	60.0000	100.00	9	Jiggens, Mark
2	60	18.32	3.2751	49.9127	83.19	5	Marechal, John